

भारतीय प्रौद्योगिकी संस्थान गोवा INDIAN INSTITUTE OF TECHNOLOGY GOA INSTITUTE WORKS DEPARTMENT

NOTICE INVITING e-QUOTATION (NIQ)

Indian Institute of Technology Goa invites **percentage rate** quotations from contractors for the following works.

IITGoa/IWD/2025/08				
Repair works at Hostel premises				
Rs. 1,94,009/-				
Rs. 3,880/-(to be returned after award of work for successful bidder)				
5% of tender accepted value				
(to be returned after completion of work)				
15 days from the date of issue of work order				
Two Bid System (Technical Bid & Financial Bid)				
16-07-2025 at 18.00 hrs				
16-07-2025 at 18.00 hrs				
16-07-2025 at 18.00 hrs				
30-07-2025 at 11.00 hrs				
30-07-2025 at 11.00 hrs				
31-07-2025 at 11.00 hrs				
CPP Portal (<u>www.eprocure.gov.in</u>) and Institute website				
(https://iitgoa.ac.in/tenders/)				
CPP Portal (<u>www.eprocure.gov.in</u>)				

Terms & Conditions:

- 1) The rates quoted must be valid for **90 days** from the date of opening of the quotation.
- 2) The bidder shall quote their rates considering all prevalent taxes/ cess like GST, workers cess or any other tax on material /work as applicable on the last date of bid submission and nothing extra shall be paid to the contractor on this account. All such taxes as applicable shall be paid by the contractor himself. The institute shall deduct from the RA bills, the TDS as applicable
- 3) Those contractors not registered on the website mentioned above, are required to get registered beforehand. The necessary training materials including the videos with step to step process are available on CPP portal. The institute shall not be responsible for whatsoever case in this regard.
- 4) The intending bidder must have valid class digital signature to submit the quotation. Contractor can upload documents in the form of JPG format and PDF format only.
- IIT Goa reserves the right to increase or decrease the quantity and/or amount of work. In this regard, decision of IIT Goa will be final.
- 6) IIT Goa reserves the right to reject any quotation or part or the whole of inviting quotation process without assigning any reason. The decision of the Competent Authority of IIT Goa will be final and binding.
- 7) Mere becoming the lowest bidder, prior to financial bid scrutiny will not give any right to the lowest bidder to claim that he is successful in the bidding process. The successful bidder (L1) shall be decided only after following due procedure.
- 8) The work shall be carried out strictly in accordance with the terms, conditions and specifications as per CPWD norms, in the approved workmanlike manner and as per standard practice. The decision of Engineer-in-Charge in this regard shall be final and binding.
- 9) Materials required for satisfactory completion of work shall be of approved quality, make, grade etc. and of/or conforming to the Indian Standard Specifications (Latest revision) wherever applicable and approved by the Engineer-in-charge before use.
- 10) Water required for the works shall be arranged by the contractor. If the contractor fails to arrange water and uses the IIT Goa's water supply, the same shall be charged at the rate of 1% of the final bill

amount. The electricity required for the works shall be charged through metering basis as per current unit rate of Goa Electricity Department. The contractor has to arrange an energy meter. If the contractor fails to arrange an energy meter and uses IIT Goa' electricity, the electricity used will be charged at the rate of 0.1% of the final bill amount.

- 11) List of documents to be scanned and uploaded within the period of quotation submission for meeting technical eligibility criteria:
- (i) Earnest Money Deposit Scanned copy of Bank transaction slip
- (ii) GST Registration Certificate
- (iii) PAN card duly attested by the firm.
- (iv) Copy of Bank Account details viz cancel cheque
- (v) Should have satisfactorily completed the works as mentioned below during the last Seven years ending last day of the month previous to the one in which tenders are invited.
 - Three similar works each costing not less than 40% of estimated cost put to tender
 - or two similar works each costing not less than 60% of estimated cost put to tender
 - or one similar work costing not less than 80% of estimated cost put to tender.

Similar work shall mean: Civil Works

The value of executed works shall be brought to current costing level by enhancing the actual value of work at simple rate of 7% per annum; calculated from the date of completion to previous day of last day of submission of tenders.

Contractor shall submit completion certificate for such works for pre-qualification. Pre- qualification application received without such experience (Completion Certificate) shall be summarily rejected. Bidder shall submit self-attested certificate of completion certificate(s), issued by the officer not below the rank of Executive Engineer or equivalent in case of Govt. works. For non-Govt. work the completion certificate shall be accompanied with TDS certificate indicating payment made to the firm against the work. Completion certificate must clearly indicate.

- 1. Name of work
- 2. Stipulated date of start and actual date of completion.
- 3. Gross Value of work done
- 4. That the work has been completed satisfactorily.
- 5. Full address of client, officer issuing the certificate & location where work is executed.
- (vi) Entire tender document along with the signature of authorized person and seal of the firm as a token of acceptance of terms and conditions of the tender.
- 12) Bidder is also required to submit a cover letter mentioning the details of the firm viz. Name, contact details, address, authorized person and list of various natures of work executed in past.
- 13) Applicant has to deposit Online payment of Rs. 3,880/- (Rupees Three thousand Eight Hundred and Eighty Only) towards refundable EMD.

Details for online payment for EMD:

Beneficiary name: IIT Goa Main Account	Account no: 520101252594859				
Bank Name: Union Bank of India	IFSC Code: UBIN0913286				
Address: GEC Campus, Farmagudi,	Branch: Farmagudi				
Ponda, Goa - 403401.					

The bank Transaction reference slip shall be uploaded online.

14) The EMD of the successful bidder will be returned without any interest after submission of Performance Guarantee. The earnest money of unsuccessful bidders shall be returned after financial evaluation/award of contact.

<u>Note:</u> The MSME firms registered in NSIC under PP policy are exempted from payment of EMD for supply of goods and services only. They are not relaxed for works contracts. No other relaxation will be allowed.

- 15) Warranty / Defect Liability Period (if any) One year from the date of completion of work.
- 16) Liquidated Damage: If the contractor fails to carry out the work on or before the stipulated date, then a penalty @ 2% (Two percent) per month of delay subject to maximum of 10% of work order value to be computed on per day basis based on quantum of damage suffered due to stated delay on the part of Contractor
- 17) Security Deposit: The contractor whose quotation is accepted will also be required to furnish by way of Security Deposit for the fulfillment of his contract, an amount equal to 2.5% of the executed amount of work. The Security deposit will be collected by deductions from the running bills as well as final bill of the contractor at the rates mentioned above. The said security deposit shall be returned after satisfactorily completion of defect liability period of 1 year. This security deposit shall be forfeited

- if he/they fails to comply with any of the conditions of the contract. No interest shall be paid on the security deposit
- 18) **Payment Clause:** Payment will be only after successful completion of work duly certified by the Engineer-In-Charge based on the actual measurement of work done only.
- 19) Failing to comply with any of the terms & conditions of the contract, the EMD/Performance Guarantee shall be forfeited.
- 20) Any clarification on the content of NIQ document can be referred to the Executive Engineer (Civil), IIT Goa and/or Sr. Executive Engineer, IIT Goa (Phone No. 0832-2490866/ 0832-2490905) email: ex.eng.civil@iitgoa.ac.in/sr.ex.eng.civil@iitgoa.ac.in by making a written requested up to 30-07-2025 at 11.00 hrs
- 21) Corrigendum / Addendum to this NIQ, if any, will be uploaded on the CPPP/ Institute website. Prospective bidders may kindly note this.
- 22) **Disputes:** In the event of any dispute or disagreement arising between the contractors and IIT Goa with regard to the interpretation of "Terms & Conditions" of this inquiry, the same shall be referred to the Competent Authority of IIT Goa, whose decision will be final and binding upon the contractor.

23) Scope of work:

- a. Providing and fixing granite stone urinal partitions.
- b. Providing and fixing ceramic glazed wall tiles and floor tiles.
- c. Painting with synthetic enamel paint.
- d. Providing and fixing various plumbing fixtures and sanitary fittings
- e. Providing and fixing glazing using float glass and frosted glass
- f. Providing and fixing various door fixtures
- g. Providing 1st quality marine plywood of BWP grade.
- h. Providing and fixing Aluminium Composite Panel

24) List of approved make of materials:

Sr. No	Materials	Approved Make
1.	Ceramic glazed wall tiles and rectified glazed ceramic floor tiles	Johnsons, Somany, Kajaria
2.	Synthetic enamel paints	Asian Paints, Berger, Nerolac, JSW
3.	Plumbing fixtures and sanitary fittings	Cera, Jaquar, Hindware
4.	Marine plywood (BWP grade)	CenturyPly, Greenply, Kitply

	Schedule of Quantities					
Sr.No	Item Description	Unit	Quantity	Item Rate(Rs.)	Amount(Rs.)	
1	Providing and fixing stone slab with table rubbed, edges rounded and polished, of size 75x50 cm deep and 1.8cm thick, fixed in urinal partitions by cutting a chase of appropriate width with chase cutter and embedding the stone in the chase with epoxy grout or with cement concrete 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 6mm nomincal size) as per direction of Engineer-in-charge and finished smooth. i) Granite stone of approved shade	sqm	1.5	4619.109	6928.66	
2	Providing and fixing lst quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	sqm	5.00	1445.463	7227.32	
3	Providing and fixing bright /matt finished Stainless Steel handles of approved quality & make with necessary screws etc all complete. i) 125mm	each	5.00	135.888	679.44	
4	Providing and fixing ISI marked flush door shutters confirming to IS:2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both face of shutters. i) 30mm thick including ISI marked stainless steel butt hinges with necessary screws	sqm	5.30	2476.194	13123.83	
5	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., complete.	sqm	5.00	1640.916	8204.58	
6	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : i) Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	sqm	80.00	257.925	20634.00	
7	Removing white or colour wash by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete	sqm	80.00	22.515	1801.20	
8	Providing and fixing solid plastic seat with lid for pedestal type W.C. pan complete : i) White solid plastic seat with lid	each	2.00	780.729	1561.46	
9	Providing and fixing P.V.C waste pipe for sink or wash basin including P.V.C waste fittings complete. i) Flexible pipe- 32mm dia	each	2.00	136.287	272.57	
10	Providing and fixing uplasticised PVC connection pipe with brass unions : i) 45 cm length - 15mm nominal bore	each	5.00	111.435	557.18	
11	Providing and fixing C.P brass shower rose with 15 or 20mm inlet: i) 150mm diameter	each	39.00	253.479	9885.68	
12	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 : 15 mm nominal bore	each	5.00	577.752	2888.76	
13	Providing and fixing C.P. brass stop cock (concealed) of standard design and of approved make conforming to IS:8931. 15 mm nominal bore	each	4.00	764.313	3057.25	
14	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931. i) 15mm nominal bore	each	1.00	654.702	654.70	
15	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge . (Cost of aluminium snap beading shall be paid in basic item): i)With float glass panes of 4.0 mm thickness (weight not less than 10 kg/sqm)	sqm	35.00	1341.552	46954.32	
16	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge . (Cost of aluminium snap beading shall be paid in basic item): i)With frosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sqm)	sqm	10.00	1542.648	15426.48	
17	Providing and fixing stainless steel sliding door bolts, with nuts and screw etc. complete: i) 300 x 16 mm	each	4	535.00	2140.00	
18	Providing and fixing Hand Shower (Health Faucet) of approved quality and make as per the direction of Engineer-in-charge. i) Hand Shower (Health Faucet) with 8mm Dia, 1 Meter Long Flexible Tube & Wall Hook of Jaquar or of equivalent make as approved by Engineer-in-charge.			1983.00	7932.00	
19	Providing and fixing stainless steel door latch with necessary screws etc. complete : i) 250x16x5mm	each 5		358	1790.00	
20	Providing and fixing wash basin with C.I brackets, 15mm C.P brass pillar tap, 32mm C.P brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White vitreous china wash basin (Ovel shape) confirming to IS 2556 (Under counter type) with single 15mm C.P brass pillar tap	each	3	4228.00	12684.00	
21	Providing 1st quality marine plywood of BWP grade of 12mm thickness	sqm	21.6	1005	21708.00	
22	Providing and fixing Aluminium composite panel of thickness 4mm with necessary screws etc.	sqm	5.99	1319	7897.51	
	Total (Schedule Items) Total Amount				194008.94 194008.94	
	Round Off				0.06	
	Total Amount (After Round Off) Amount in Words: Rupees One Lakh Ninety Four Thousand and Nine Only				194009.00	

Tender Inviting Authority:

Validate Print Help Head, IWD, IIT Goa

Name of Work: Repair works at hostel premises Contract No: ITGOA/IWD/2025/08 dated 16.07.2025

Name of the Bidden' Bidding Firm / Company:

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

			loder Name and	,,		
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Rem Description	Quantity	Units	BASIC RATE In Figures including GST, OH & Profit (To be entered by the Bidder in Rs. P)	TOTAL AMOUNT in figures including GST, OG & Profit in Rs. P	
1	2	3	4	5	6	7
1	Providing and fixing stone slab with table rubbed, edges rounded and polished, of size 75x50 om deep and 1.8cm thick, fixed in urinal partitions by cutting a chase of appropriate width with chase cutter and embedding the stone in the chase with epoxy grout or with cement concrete 1:24 (1 cement 2 coarse sand: 4 graded stone aggregate form nominoal size) as per direction of Engineerincharge and finished smooth. i) Grante stone of approved shade	1.5	sqm	4819.109	6928.66	INR. Six Thousand Nine Hundred & Twenty Eight and Paise Sixty Six Only
2	Providing and fixing 1st quality ceramic glazed wall tiles conforming to IS: 15822 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of anysize as approved by Engineer-in-Chage, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement sulury @ 3.38 per sam, including pointing in white cement mixed with pigment of matching shade complete.	5.00	sqm	1445.463	7227.32	INR. Seven Thousand Two Hundred & Twenty Seven and Paise Thirty Two Only
3	Providing and fixing bright /matt finished Stahless Steel handles of approved quality & make with necessary screws eto all complete. i) 125mm	5.00	each	135,888	679.44	INR Six Hundred & Seventy Nine and Paise Forty For Only
4	Providing and fixing ISI marked flush door shutters confirming to ISI2202 (Part I) non-decorative type, core of block board construction with farme of 1 st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both face of shutters. I) 30mm thick including ISI marked stainless sheel but hinges with necessaryscrews.	5.30	sam	2476.194	13123.83	INR: Trirreen Thousand One Hundred & Twenty Thre and Paise Eighty Three Only

5	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to 1s: 15822, of approved make, in all coburs, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 14 (1 Cement: 4 Coarse sand), jointing with grey coment slurny@ 3.3 kg/sgm including pointing the joints with white cement and matching pigments etc., complete.	5.00	sqm	1840.918	8204.58	INR Eight Thousand Two Hundred & Four and Paise Fifty Eight Only
6	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: i) Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	80.00	sqm	257,925	20634.00	INR Twenty Thousand Six Hundred & Thirty Four Only
7	Removing white or colour wash by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete	80.00	sqm	22.515	1801.20	INR. One Thousand Eight Hundred & One and Paise Twenty Only
8	Providing and fixing solid plastic seat with lid for pedestal type W.C. pan complete: i) White solid plastic seat with lid	2.00	each	780.729	1561.46	INR One Thousand Five Hundred & Sixty One and Paise Forty Six Only
9	Providing and fixing P.V.C waste pipe for sink or wash basin including P.V.C waste fittings complete. § Rexible pipe-32mm dia	2.00	each	136.287	272.57	INR Two Hundred & Seventy Two and Paise Fifty Seven Only
10	Providing and fixing uplasticised PVC connection pipe with brass unions: i) 45 cm length - 15mm nominal bore	5.00	each	111.435	557.18	INR Five Hundred & Hfty Seven and Paise Eighteen Only
11	Providing and foing C.P brass shower rose with 15 or 20mm inlet: i) 150mm diameter	39.00	each	253.479	9885.68	INR. Nine Thousand Eight Hundred & Eighty Five and Paise Sixty Eight Only
12	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931: 15 mm nominal bore	5.00	each	577.752	2888.76	INR Two Thousand Eight Hundred & Eighty Eight and Paise Seventy Six Only
13	Providing and fixing C.P. brass stop cook (concealed) of standard design and of approved make conforming to IS:8931. 15 mm nominal bore	4.00	each	764.313	3057.25	INR Three Thousand & Fifty Seven and Paise Twenty Five Only
14	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931. § 15mm nominal bore	1.00	each	654.702	654.70	INR Six Hundred & Fifty Four and Paise Seventy Only
15	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic item): i)With foot glass panes of 4.0 mm thickness (weight not less than 10 kg/sqn).	35.00	sqm	1341.552	46954.32	DNR Forty Six Thousand Nine Hundred & Fifty Four and Paise Thirty Two Only

Providing and fixing glazing in aluminium door, window, wentiable studies and partitions act with EPDR intoler / recognition acts with EPDR intoler / recognition / recognition acts with EPDR intoler / recognition / recognit	Quoted Rate in	Quoted Rate in Words INR Zero Only					
shutes and partitions etc. with EPDM rubber / neoprete gasket etc. complete spee per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic hem; (With fosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sqm) 17 Providing and foring stainless steel sliding door bolts, with nuts and screw etc. complete: (a) 300 x 16 mm 18 Providing and foring stainless steel sliding door bolts, with nuts and screw etc. complete: (b) 300 x 16 mm 19 Providing and foring Hand Shower (Heath Faucet) of approved quality and make as per the direction of Engineer-in-charge. (b) Hand Shower (Heath Faucet) of approved quality and make as per the direction of Engineer-in-charge. (b) Hand Shower (Heath Faucet) of Engineer-in-charge. (c) Hand Shower (Heath Faucet) of Engineer-in-charge. (c) Hand Shower (Heath Faucet) of Engineer-in-charge. (c)				Select		0.00	INR Zero Only
shutters and partitions etc. with EPDM rubber / recoprene gasket etc. compilete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tent): (With firsted elgaiss panes of 4.0 mm thickness (weight not less than 10 kg/ sqm) 17 Providing and fixing stainless steel sliding door bolts, with nuts and sorew etc. complete: (a) 300 x 10 mm Providing and fixing stainless steel sliding door bolts, with nuts and sorew etc. complete: (b) 300 x 10 mm Providing and fixing Hand Shower (Heath Faucet) of approved quality and make as per the direction of Engineer-in-charge. (b) Hand Shower (Heath Faucet) with 8mm Dis. 1 Meter Long Piexble Tube & Wall Hook of Jaquar or of equivalent make as approved by Engineer-in-charge. 19 Providing and fixing stainless steel door lath with necessary sorews etc. complete: (c) 250x(16)xmm Providing and fixing stainless steel door lath with necessary sorews etc. complete: (c) 250x(16)xmm Providing and fixing stainless steel door lath with necessary sorews etc. complete: (c) 250x(16)xmm Providing and fixing wash basin with C I brackets, 16mm C P brass pillar tap, 32mm C P brass waste of standard pattern, including unline of fittings and brackets, cutting and making good the walls where verequire: White vireous china wash basin (Okel shape) confirming to IS 2556 (Under counter type) with single 15mm C P brass pillar tap, 32mm C P brass waste of standard pattern, including antique of the walls where verequire: White vireous china wash basin (Okel shape) confirming to IS 2556 (Under counter type) with single 15mm C P brass pillar tap. Spm 1005 21 Providing 1st qualitymarine plywood of BWP grade of 12mm thickness 22 Providing and fraing Aluminium composite panel of flickness 4mm 23 Spm 1019 24 Providing and fraing Aluminium composite panel of flickness 4mm 25 Spm 1019 26 Spm 1019 27 Providing and fraing Standard pattern including and brain (Aluminium composite panel of flickness 4mm 4.5.99 27 Providing and frai						194009.00	INR One Lakh Ninety Four Thousand &Nine Only
shutees and partitions etc. with EPDM rubber / recoprene gasket etc. complete as per the artithicetural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic term): (N/fit hosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sgm) 17 Providing and foing stainless siteal sliding door bolts, with nuts and sorew etc. complete: (3 200 x 16 mm Providing and foing stainless siteal sliding door bolts, with nuts and sorew etc. complete: (3 200 x 16 mm Providing and foing Hand Shower (Heath Faucet) of approved quality and make as per the direction of Engineer-in-charge. (1) Hand Shower (Heath Faucet) with 8 mm Da. 1 Meter Long Rexible Tube & Wall Hook of Jaquar or ofequivalent make as approved by Engineer-in-charge. 19 Providing and foing stainless siteal door latch with necessary sorews etc. complete: (2) 250x16x6mm 20 Providing and foing stainless siteal door latch with necessary painting of fittings and brackets, cutting and making good the walls wheelver require: White viteous china wash basin (Ovel shape) confirming to 15 2556 (Under counter type) with single 15mm C.P brass gillar tap, 32mm C.P brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wheelver require: White viteous china wash basin (Ovel shape) confirming to 15 2556 (Under counter type) with single 15mm C.P brass pillar tap, 32mm C.P brass waste of standard pattern, including painting of 15 2556 (Under counter type) with single 15mm C.P brass pillar tap. 32mm C.P brass waste of standard pattern, including painting of 15 2556 (Under counter type) with single 15mm C.P brass pillar tap. 32mm C.P brass waste of standard pattern, including painting of 15 2556 (Under counter type) with single 15mm C.P brass pillar tap. 32mm C.P brass pillar tap.		with necessary screws etc.	5.99	sqm	1319	7897.51	
shuters and partitions set with EPDM rubber / recoprene gasket eto complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tent): (With flosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sgm) Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal sliding door bolts, with nuts and sorew eto. complete: § 300 x 16 mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal door latch with necessary sorews eto. complete: § 250x16x6mm Providing and fixing stainless siteal stainless si	21	thickness		sqm	11777	21708.00	
shutters and partitions etc. with EPDM rubber / recoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tent): (With floated glass panes of 4.0 mm thickness (weight not less than 10 kg/ sgm) Providing and fxing stainless siteal sliding door bolts, with nuts and soriew etc. complete: (a) 300 x 18 mm Providing and fxing Hand Shower (Heath Faucet) of approved quality and make as per the direction of Engineer-in-charge: (b) Hand Shower (Heath Faucet) with 8 mm Dai. If Meter Long Flexible Tube & Wall Hook of Jaguar or of equivalent make as approved by Engineer-in-charge. Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary Providing and fxing stainless siteal door latch with necessary	20	pillar tap, 32mm C.P brass waste of standard pattern, including painting of fittings and brackets, outting and making good the walls wherever require: White vitrous china wash basin (Ovel shape) confirming to 15 2556 (Under counter type) with single 15mm C.P	3	each	4228.00	12684.00	INR Twelve Thousand Six Hundred & Eighty Four Only
shutters and partitions etc. with EPDM rubber / recoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tem): (()Vife toosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sqm) Providing and fixing stainless siteal sliding door bolts, with nuts and screw etc. complete: (i) 300 x 16 mm Providing and fixing Hand Shower (Health Faucet) of approved quality and make as per the direction of Engineer-in-charge. (I) Hand Shower (Health Faucet) with 8 mm Da. (I) Meter Long Flexble Table & Wall Hook of Jaquar or of fequivalent make as approved by	19		5	each	358	1790.00	INR One Thousand Seven Hundred & Ninety Only
shutters and partitions etc. with EPDM rubber / neoprene gasket tetc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tem): (With tosted glass panes of 4.0 mm thickness (weight not less than 10 kg/ sqm) 17. Providing and foing stainless steel sliding door bolts, with nuts and	18	quality and make as per the direction of Engineer-in-charge. i) Hand Shower (Health Faucet) with 8mm Dia, 1 Meter Long Flexible Tube & Wall Hook of Jaquar or of equivalent make as approved by	4	each	1983.00	7932.00	INR Seven Thousand Nine Hundred & Thirty Two Only
shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic term): (IVM frosted glass panes of 4.0 mm thickness	17		4	each	535.00	2140.00	INR Two Thousand One Hundred & Forty Only
	16	shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic tem): If with the cost of	10.00	sqm	1542.648	15426.48	